“1/GeVA

tbar

Pr

©

ad

10

t,h
pT

Ratio to ATLAS

107°

0.5

13000 GeV pp tt

_| T I T I T I T I | T I T I T I T I T |_ ﬂ
| pT (ATLAS semileptonic ttbar) 413
- 18
o
| 1<
Nl
o
—
— (-
— o
— 10
— 1=
| -
©’
— ™M
<
1™
o
ATLAS 19
| --O-- Herwig++2.7.1 defau\Ifx\;"*. _| i
| ---- Herwig 7.2.1 default s
—a4— Pythia 8.308 default =
| —¥- Pythia 8.308 vincia-default | <
— ¢ Sherpa 2.2.5 default 38
| HE%)
Z 1o
o
| - O
| | | =k
-2
1

| —0.5

| 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000

pt" [GeV], p>*"} in [30,80] [GeV]



	Contents
	Page 1


